EMihhzE AfIT=RA2 ZB16BAS
<H31.2/16(%) : BHT=22— >

BEER7ILR

[ 158 TOER]
A 1 2 3 4 R | TEfL 1BLb—F A+
1| M OKE | ERESRSH| 2 76(6) | 16 | 46 | 1-2 | 3 4 ) 4 M BAFR SHIFYY 2
2| #E BEX | B5BR—/— |$2( (6)67 36 | 46 | 0-3 [ 4 Wl: REIE V. PN NWTC 12— =7
K4 15 5 £s __| 64
3| 1B¥ @E |PARQUE scl#i1| 61 | 63 26 | 2-1 | 2 8% 15 g &8 ERELTC 2 o & %
4 A BAR | BHISIY (h2| 64 | 64 | 62 3-0 | f 60 - gk N NWTC /76 b2
. T T TSR 5 #K M JLRTaA 2 63
#}AR | TLRITaA |2 60 | 75 | 60 | 3-0 | 1 ot e A
6| FRIR WAZE |S's family TC|H1| 06 46 | (467 0-3 | 4 3 5 3 5% {@% PARQUE SC F1
7| WK B | <A4oFY> 1| 57 | 64 64 | 2-1 2 T[w E 19 KU B S’s family TC q:z—l 5
8 | mERE & team S4A |/\6| 06 | 76(4)| 46 1-2 | 3 1,:12, g 13 £F BAF =Bx—— h1—] 63 aéé%
= .y SERNTR = Z
(; g 10 11 12 %E& | T 10 2 10 I:IE ELIL /E*’AEIEJEP%'%B '432
9| KA TE |S's family TC|H1 46 | 26 | 36 | 0-3 | 4 27 WA BH AUy i | 61
10| HH B |ERESDSEH| 52| 64 26 | 64 | 2-1 | 2 SRR —F AUk
1| &EX Nk NWTC  [/6| 62 | 62 61 | 30 | 1 — 1 41 B XS RRESREH B2
a E ~ N -~
12| HIE B STAC |fh1]| 63 | 46 | 16 1-2 | 3 o047 9 17 WA EF  TIUETY 431:{ 2603
- —_— NI 63
D 314 15 [ 16 [BR R 3 14 MNEE BR EA—TC @i /N
13| &F BRAF | 2HBR—/— B 63 | 26 | 62 | 21 | 2 61 12 MHIE BY  STAC 1 63
8
14| NS $RE | ER—>TC 1| 36 16 | 64 | 1-2 | 3 8 BRM % team S4A N6 63
15| LU {85 | {EBALTC |[dh2| 62 | 61 61 | 3-0 | 1 AT —F A
16| =% iR | ®FHUFI (1| 26 | 46 | 16 0-3 | 4 - 42 #E BK  BER—/S— 2
E
E 7 18 T 19 [ 20 | B [EE ‘l 164 Bve T
17| UK BE | S1UFHY B 26 | 36 02 | 3 - D16 {-R R ®3U590 1] wp
18| #K X#H NWTC  |#2| 62 61 2-0 | 1 75 $9 XFE FTE S's family TC H1 o1
6
19| KW Z |S’s family TC|h2| 63 | 16 -1 | 2 26 IR AFK S's family TC H1 62
20 Bye




i FE

AM7=2A& ZR16BK&
<H31.2/16(%) : BGT=Z22—h >

9RLATOER- 1 1 =LA TOER]

BEAR7ILR

9=k FOER 1 2 3] 4 [BER[ERX
1| MngE ER | EKRSELTC |/h3 16 | 36 | 62 | 1-2 | 3
2 | FEIE FIK | tR'BELTC |3 61 36 | 60 | 2-1| 2
3| 1R E | TLR/ITFaA|3| 63 | 63 60 | 3-0 [ 1
4| AF BT | 28X—/— /2| 26 | 06 | 06 0-3| 4
X FOBR A70v 112 [ 3 [ 4 [BEBIES|1G—FATE
1| iy EREF | EBELTC |15 46 | 46 | 36 | 0-3 | 4 T4 KR Rt NWTC /b4
4
2| 54 KEE | mRO—> |/15| 64 (3)67|76(4)| 2-1 | 2 et 713 BE BX sTss  /me— 60
3| A WE | H—IEH [/14| 64 |76(3) 36 | 2-1] 3 64 " S 10 HLE BA  BER—/S— N5
4| K# R NWTC  [/h4| 63 |(4)67| 63 2-1 | 1 T8 &F EHE EBER—— 15 60
X FOBR B70 5 1 6 [ 7 | 8 |mB|IBGL| 26 b—F Ak
5| BR B | &ERALTC |6 64 |(567| 06 | 1-2 | 3 , 2 S KIE BEO— N5
6 | M &} | KFHHSUU N5 46 36 | 16 | 0-3 | 4 o3t > 15 ik KE ER—2TC /N5 61
A
7| kF W | TLRH—F>|14|76(5)| 63 06 | 2-1 | 2 61 S 9 BT Zft ER—TC /4
7
8| &£F HEZE | 2HERX—/— |/15[ 60 | 61 | 60 3-0 | 57 k¥ WHE  ILRA—TV M4 64
X FOBR C720~ 9 [ 10 | 11 | 12 | BSER [JEfL| S3HIb—F Ak
9| BT Eft | ER—>TC |4 16 | 64 | 61 [ 2-1| 2 ; 3 A% BHE H—FEW N4
10| FE A | 288R—/— /15| 61 61 | 61| 30| 1 D 14 B B JLRA—TY 4 63
11| B =& | #BELTC || 46 | 16 36 [ 0-3| 4 63 ; S 12 )l BE 0 BRO—Y 5
12| th)l| ®= | wmEO—> |/M5| 16 | 16 | 63 1-2 | 3 5 5 HR AR  KBALTC /5 60
X FOBR D70+ 13 | 14 [ 15 | 16 | BB [IEGL| A h—F Ak
13| &5 BX STSS  |Mve 61 | 62 | 60 | 3-0 | 1 G 1 W EEREF EBELTC A6
14| BR D | TLRA—F 4| 16 36 | 60 [ 1-2| 3 0 Bye
15| fidk KB | EAR—>TC |N5| 26 | 63 60 | 2-1| 2 ;11 BB EHE  EBALTC s
16| XKH X {EIBBLTC |/M5| wo | wo | wo E;’ 6 Y & KHHISHY N5 w.0

67

60

62

61



